Assignment:  VSEPR Diagrams for Molecular Diagrams



Name:________________________
1. Complete the following table.  
# of LP = number of lone pair electrons on central atom.  # of BP = number of bonding pair electrons on central atom
	Formula
	Name
	Lewis Diagram
	VSEPR Shape Diagram as a Structural Formula
	VSEPR Name
	# of LP 
	# of BP

	
	oxygen
	
	
	
	
	

	
	carbon tetrabromide
	
	
	
	
	

	NF3

	
	
	
	
	
	

	Formula
	Name
	Lewis Diagram
	VSEPR Shape Diagram as a Structural Formula
	VSEPR Name
	# of LP 
	# of BP

	
	dihydrogen tellurium
	
	
	
	
	

	SO2

	
	
	
	
	
	

	
CH2Cl2


	
	
	
	
	
	

	Formula
	Name
	Lewis Diagram
	VSEPR Shape Diagram as a Structural Formula
	VSEPR Name
	# of LP 
	# of BP

	
COCl2
Hint: chlorine atoms cannot form multiple bonds

	
	
	
	
	
	

	
CHCF
Hint: hydrogen and fluorine atoms cannot form multiple bonds

	
	
	
	
	
	


2. The atoms of element “A” have 4 valence electrons and the atoms of element “B” have 6 valence electrons.  A covalent compound with the formula AB2 is formed when the elements combine.  Which statement describes the bonding present in the compound AB2?  
a. two single bonds

b. two double bonds

c. one single and one triple bond

d. one single and one double bond

3. According to VSEPR theory, molecules adjust their shapes to keep which of the following as far apart as possible?

a. pairs of valence electrons

b. inner shell electrons

c. bonding pairs of electrons

d. lone pairs of electrons
Use the following information to answer the next question.





4. The elements X, Y, and Z combine to form a covalent molecule with the formula ZXY2Z.  What bonding is present in the molecule ZXY2Z?

a. three single bonds and one double bond

b. two single bonds and two double bonds

c. three single bonds and one triple bond

d. five single bonds

Use the following information to answer the next question.





5. What could be the identity of the atoms A, B, and C?
a. A = hydrogen, 
B = carbon,

C = oxygen

b. A = carbon, 

B = hydrogen,

C = oxygen

c. A = oxygen, 

B = carbon,

C = hydrogen

d. A = carbon, 

B = oxygen,

C = hydrogen
The Lewis structures of three hypothetical atoms are as follows.
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The Lewis structure of a covalent compound is as follows.
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